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Decreasing Linear Sequences
E 4\ S1, 4%, as a2 3% 3¢

) Y -7 "

(’\e'\ Cernm - S4 — 3

g 4t 47 3B 34

WY Lepe, = SO —4n



(‘Zx&:us—c

):c—w( '(’Lé P\EL\ '{‘-eJ't-s

94, 98,97, 9C

en
h Lern. = ]6O — n

2| (
,l(,,/ (/ G
Y L =2 2€6 =S

94, 8,70, (£

V\c\‘ E(r\,\ = 8 - l’f?\
or K - 2n

z

Lorole

Lza.% - Fo Quc\e/(n..'\"tc S<1u(hc-€$
O
_ : ]
!1_ 27- 3"- "l.
| & 1 Ic
+3 Y +1



1 —
2 = | +3 -4
T - -~
3 = L+ 73 4 _ 5
4’1 = |l + 3 £§ 7 A
Y = [ # «C A+ €19 =27
Ll = |+ 3£F x7 49 UL =2C
7’* = [ +73 43 417 49 L 413 Z 49
2> = (#7345 477 T #1 +13 48 = 6
Md(c(“\ccrthu. 2 2. 2 > 5 1
(b A€ 3 $ /2 S L S
Segquen | 4 9 (L 2S 3L 49 ¢4

[£ 2Lt Abbcrency are all 27 €lea

éLc V\‘éh —é'ﬁ/‘u._ e hl (~ tle ré/‘u-\ul&.

2L Al
EﬁAWf(tz - R K 2 ~
[s4AN 2 'y ) Q I




+ 6




